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Examinee must write his/her Roll Number in the
specified box on the top left hand comer of this page.
Answers are required to be marked only on the
Computerised O.M.R. Answer sheet which s being
provided lo the examines.

Besides filling in the Roll Number, the examinee has to
put his/her signature on the Answer-Sheat and also fill
other required details like Name, Roll Number, Question
Bookiet code, etc. as indicated on the Answer OMR
Sheet. If these details are not filled in by the examinee,
his/her Answer Sheet will not be evaluated.

For each question, there are four alternative answers,
out of which only one is corract. Examinee must darken
the circle of correct option in the Answer Sheel by Black
Ball Pen only.

There ara 40 (37+3) pages in this Question-Booklet
including 1 page for General Instructions and two
blank pages for Rough Work in the last. In case
an examinee receives an incomplete or defective
Question Booklet, he/she should make a request
to the Room Invigilator to change the same within
10 minutes of slart of the exam.

This Question Booklet contains 150 questions from
following subjects :

(1) Maths Q.Nos,. 1-50
(2) Chemistry Q.Nos. 51-100
(3) Physics Q.Nos. 101-150

Each question carries 1 mark and % mark will be
deducted for each wrong answer.

Possession and use of electronic devices such as
Calculator, Ceilular Phone, Digital Diary, Log Table,
Pager, eic., are restricted during the examination.

Any leal from the Question Booklet should not be
detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over to the Room
Invigilator.

During examination the examinee will not be allowed
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1.

MATHEMATICS

(sec A+tan A) (1 —sin A) =
A) sec A

B) sin A

C) cosec A

D) cos A

. Value of sin? 63° + sin? 27° is

A) 0
B) 1

C)

D)

N[wW N|—=

If sin 2A = 2sin A, then A =
A) 0°

B) 30°

C) 45°

D) 60°

. If coto=7 5 then the value of

(1+sin@) (1-sin@)
(1+cos6) (1-cos@) '

A) %9

50
84
43
64
D) 1

S

B)

C)

wfore

1. (sec A+tan A) (1 —sin A) =
A) sec A
B) sin A
C) cosec A
D) cos A

2. sin263° + SN2 27° FI AR &
A) O
B) 1

C)

D)

NEW D=

3. IR sin2A=2sin AR, G A=
A) 0°
B) 30°
C) 45°
D) 60°

4, 3fe cot9=73 g, @

(1+sin®) (1-sin@)
(1+cos6)(1-cos6)

A %o

50
84

B)

2
64
D) 1

C)
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5. The sum of first 15 multiples of 8 is

A) 240
B) 960
C) 800
D) 690

. A sum of Rs. 700 is to be used to give
seven cash prizes to students of a
school for their academic excellence.
If each prize is Rs. 20 less than its
preceding prize then first prize amount
is

A) Rs. 140
B) Rs. 150
C) Rs. 160
D) Rs. 120

. The number of 3 digit numbers
divisible by 7 is

A) 126
B) 128
C) 130
D) 127

. The 20" term from the last term of the
sequence 3, 8, 13, ....,, 253 is

A) 140
B) 158
C) 98
D) 90

5. 8% W99 15 IOISH &1 A ]

A) 240
B) 960
C) 800
D) 690

6. %. 700 F Ul v Framem & fefiat

e Qe Sywfaert % fog @ 7o
qEER 3 & forg s i 1§ | AR v
QT 39 gl UEHR § T, 20 FH W,
T oY QR Sl TR o &t

A) %. 140
B) %. 150
C) %. 160
D) %. 120

. et At et vt 7 A s @ 7

A) 126
B) 128
C) 130
D) 127

. §@e 3, 8, 13, ..., 253 F AfH A

POEIRCE
A) 140
B) 158
C) 98
D) 90



9.

10.

)

12.

Two consecutive odd positive numbers,
such that sum of whose squares is 290,
are

A) 11,13
B) 9, 11

C) 13,15
D) 19, 17

The value of k so that the following
system of equations 3x -y + 5 =0 and
6x — 2y + k = 0 has no solution is

A) k = 1
B) k=1

C) k=10
D) k # 10

The value of k for which the lines
3x+4y=5and 5x + 4y =4 and
kx + 4y = 6 meet at a point is

A) 1
B) 2
C) 3
D) 4

Which of the following cannot be the
difference between a two digit number
and the number obtained

by interchanging the digits ?

A) 72
B) 36
C) 54
D) 48

Page No. 5

9. 3 FwaR faww mwmmﬁ
3 3% anil =1 9 200 B, 7 9% d&nd §

A) 11,13
B) 9,11

C) 13, 15
D) 19, 17

10. k %1 98 u foraas o aftemn

3Xx-y+5=03M6Xx—2y +k=0FH
Ot 1 1§ &t A 8

A) k # 1

B) k=1

C) k=10

D) k # 10

11. kT FeaH o g iand 3x + 4y = 5,

5% + 4y = 4 3T kx + 4y = 6 G & foig
R et &

A) 1

B) 2

C) 3

D) 4

12. Pefifea ¥ @ AT uEH 9 i1 H T

3T 37! =1 T T9E H FEe & UTEI
o e & " = 25 T 8 g ¢

A) 72
B) 36
C) 54
D) 48
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13.

14.

15.

16.

If AABC is right angled at C, then the
value of cos (A + B) is

A) 1
B) 0

1
C) —
)2

V3

D)?

If secA + tanA = x, then tanA =

If sin® = /3 cos6, 0 <6 < 90°, then 0
is equal to

A) 30°
B) 45°
C) 60°
D) 90°

if tan?0 + cot®0 = 2, 6 is an acute
angle, then tan®0 + cot®@ is equal to

A) 2
B) 3
C) 4
D) 8

13. af AABC, C W a9=hivii &,

14.

15.

16.

@ cos (A+B)FAME
A) 1
B) 0

1
C) —
) 2
5 B3
) 2
af2 secA + tanA = x 8, @ tanA =

m %
:

BY —
)2:(

af sind = /3 cos8, 0 <8 <90°R,
MO=

A) 30°
B) 45°
C) 60°
D) 90°

IR tan?6 + cot? = 2, 0 T& < T &,
Al tan0 + cot’@ =

A) 2
B) 3
C) 4
D) 8
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17. 2 men and 7 boys can do a piece of

work in 4 days. 4 men and 4 boys can

do the same work in 3 days. Then
the number of days a boy takes to
complete the same job is

A) 50 days
B) 60 days
C) 30 days
D) 55 days

18. In an examination, one mark is awarded
for every correct answer, while % mark
is deducted for every wrong answer.
if a student gets 90 marks by answering
120 questions then how many questions

did she answer correctly ?
A) 96

B) 100

C) 90

D) 95

a’ b

19. Ifx=asin®,y=Dbtan 6, then — - —=

X
A) 0 .

B) 1
) -4

1
D)E

20. Sides of 2 similar triangles are in the

ratio 3 : 7. Areas of these triangles are

in the ratio
A) 9:35
B) 9:49
C) 49:9
D) 9:42

Page No. 7

17. 23t 7o G aR w4 R o
TR & | 4 et 3 4 e st wid
H 3 7 ¥ = gd € | ) o Tge S
FHH PR AR g ?

A) 50 &=
B) 60 fa
C) 30w
D) 55 f&=

18. & lian #, vs ud IW & g 1 o=
Rt s 8, SR Y% erd W * fow
Y% 3ich e forn s B | AR u foraeff
1 120 TET & I A W 90 3% W g,
Al 36+ foraa vt & et I e ?
A) 96
B) 100
C) 90
D) 95
19. ﬂﬁx:asinﬂ,y:btana,ﬁra—:-b_:=
A) 0 ¥t
B) 1
gy =14
1
D) 2
20. A ey Py A yemi 3 : 7 F AR A € |
37 eIt & §A%e T I 41 g ?
A) 9:35
B) 9:49
C) 49:9
D) 9:42
1 PECE




2.

22.

23.

24.

20.

The pair of linesy =0 and y =7 has
A) No solution

B) One solution

C) Infinitely many solutions

D) Two solutions

If x + 3 is a factor of x* + ax> -~ bx + 6
and a + b = 7then the values of a and
b are respectively

A) 1,6
B) 0,7
C) 0,7
D) 2,5

If x —y = 0 and 2x — y = 2 then values
of x and y are

A) 3,3
B) 2,2
C) -2,-2
D) -8, -3

The value of k for which the system of
equations 2x — 3y = 1 and kx + 5y = T
have a unique solution, is
A) k#1
B) k#10

-10

K#—
C) 3

D) any real value of k

A quadratic polynomial whose zeroes
are3and-5is

A) x> +2x-15
B) x*—2x + 15
C) x*-8x+15
D) x*+8x—15

21. Wﬁy:ﬂ@ty:-?%gmﬁr

22.

23.

24,

25.

Page No. 8

A) S g TE 8
B) TH & ©

C) AT ®
D) q g ®

IR % + 22 — bx + 6 T THPAES X + 3§
Aa+b=7% Masdib FAAFW:E
A) 1,6
B) 0,7
C) 0,-7
D) 2,5

AR x—y =03 2x—y=2%d x MW
yh AHE

A) 3,3

B) 2,2

C) -2, -2

D) -3, -3

k %1 9 O Roraes o wfiemm 2x - 3y = 1
3R kx + 5y = 7 1 STt o G Alee
T o

A) k=1

B) k=10

C) k;tjg-

D) kmmgéamﬁamq

e e agedia o Y 3 -5 %,
qE
A) x2+2x-15
B) x2—2x+ 15
C) x*—8x+ 15
D) x2+8x—15
1 PECE



26.

27.

28.

29.

In a flower bed, there are 23 rose plants
in the first row, 21 in the second, 19 in
the third and so on. There are 5 rose
plants in the last row. Then the number
of rows in the flower bed is

A) 15
B) 18
C) 10
D) 9

The sum of the reciprocals of
Ms. Sonu’s ages (in years) 3 years

ago and 5 years later from now is _! .
Then Sonu’s present age is 3

A) 5
B) 7
C) 8
D) 9

A motor boat whose speed is 18 km/h
in still water takes 1 hour more to go

24 km upstream than to return downstream
to the same spot. The speed of the
stream is

A) 6 km/h
B) 7 km/h
C) 10 km/h
D) 24 km/h

Value of k if the 2 roots of the quadratic
equation kx(x — 2) + 6 = 0 are equal, is

A) 5
B) 6
C) 10
D) 1

Page No. 9

26.

27.

28.

29,

T I B0 H, W fe o 23 e S 98
8, 21 Tl ufRi 3 E, fed iR 198 aik
it yhr 2 oft € sifew ufR A 5 e
% ute &, o gou A o ofRed ) we d
A) 15
B) 18
C) 10
D) 9

TM @ o w03 ok 5 ¥ T
T G % g (aut §) & sgorn & I
%%,ammmmt

A) 5
B) 7
C) 8
D) 9

T AR e Rgeh wia s § 1y 18
., /9e1 ?, WA WA R a0 a1y
24 .5, s o freen o St @, 39 1
g2 31ftes a1 & Rl argg o o S
glamAafae

A) 6 .. /5=

B) 7 &6t /aa

C) 10 f&. . /g

D) 24 .1t /aer

afe fEeTelt weieor kx(x - 2) + 6 = 0 %
A EHE, Dk F A R

A) 5
B) 6
C) 10
D) 1

1 PECE



30.

31.

32.

33.

Which of the following is incorrect ?
A) tan6 =3
B) sin6=3
C) sec8=3
D) coto =3

. 1 1
lfsin(A-B)= —,cos{A+B)=—
( ) 3 ( ) 5

then values of A, B are respectively
A) 15° 156°

B) 30°, 0°

C) 45°,. 158"

D) 15°, 45°

If cos® + sin® = /2 cos@ then
cosb — sind =

A) 2 cos#
B) J2sing
C) 0
D) 1

If tan® = ¥/, . then the value of

4'
(3 sin® + 4 coso

]2 is equal to
3 sinB — 4 cos6

A) 312

B) 302

C) 172

D) 72

Page No. 10

30.

31.

32.

33.

feffea i a Fa-arama R ?
A) tan6 =3

B) sin6=3

C) sec0=3

D) coté =3

af2 sin (A—B) = %.cns (A+B)=-;—
%,TﬁAaﬂTBﬁr#ﬁW:%

A) 15°, 15°

B) 30°, 0°

C) 45°, 15°

D) 15°, 45°

afR coso + sind = JpcosO &,
c0s6 — sind =

A) 2 cos8

B) J2sin®

C) 0

D) 1

=B
R tano =, 4.9
3sin@+4cosB ) _
3 sinO — 4 cosH

A) 312
B) 302
C) 172
D) 72

1 PECE



35.

36.

37.

38.

34.. The anthmetic mean of a set of 40 values

is 65. If the 40 values is increased by 5,
then the mean of the new set of values
is

A) 65

B) 70

C) 60

D) can't be determined -

The sum of the deviations of the
variate values 3, 4, 6,7, 8, 14 from
their mean is

A) 1
B) 2
C) 0
D).10

Value oftan 1°tan 2°tan 3°. . .. .tan 89°is
A) 0

B) 1

C) 89

A quadratic polynomial whose one zero
is — 5 and the product of the zeroes
is 0, is

A) x? + 5x

B) 'x2 - 5x

C) ¢ +5x+5

D) x2-5x + 1

The value of m so that 4x? — 6x —m is
divisible by x ~ 3, is exact divisor of

A) 9
B) 45
C) 20

D) 36

Page No. 11

35.

36.

38.

{.

. 40 9| % UF Q=AY 1 GHIGT AT 652 .|

a2 40 7 F 5] w1 R wme, o AE &

T qY=ad 1 0Tey B
A) 65
B) 70
C) 60

D) fyifa =& famar smawan

et 3, 4, 6, 7, 8, 14 % freedi =
37 AT | 90T §

A) 1

B) 2

C) 0

D) 10

tan 1°tan2°tan3°. .. .. tan 89° %1 U1 ®
A) 0

B) 1

C) 89

B) x?-5x
C) X*+5x+5
D) x?-5x + 1

m & 98 99 58 fU 4x2 — 6x — m
® x ~ 3 ¥ Rl fer s o @ 3=
T O 9IS B |

A) 9
B) 45
C) 20
D) 36

1 PECE




| % | 5

| 39. The area of aquadrantofacirclewhose | 39. 223, ﬂf(ﬁ%—?@“ﬁ%@a@hw

| circumference is 22 cm, is (in cm?) See (B2 ) &
| 77
A) 7 77
| C NE
| B) 70 B) 70
!' C) 100 C) 100
| D) 11 D) 11
.+
,' ) 2
| ! P |
40. In the figure it TP 40. .h R & 4R TP 3l
|!. -
f and TQ are two tangents to a circle TQ % O 8 T& g9 W A &9 16N ¢,
with centre O, |POQ =110°, then IPOQ=110°, @ |PTQ=
PTQ = |
A) 60°
A) 60°
B) 70° R ol
C) BOU C) 80“
D) 90° D) 90°

41. The angle of elevation of the top of a 41, gad T U fog @ o & 2t & amn

tower from a point on the ground, which | 30 Hi. R R, TR & ¥fid 1 3=7 =0
is 30 m away from the foot of the tower, 30° 8, A et it J=r8 &, (e d)
is 30°. Then the height of the tower is,
(in metre) A 10
' B
A 10
)

J3 B) 303
B) 303
C) 1043 C) 103
D) 10 D) 10




42. The value of k if the points A(2, 3),
B(4, k), C(6, — 3) are collinear, is
A) 10

B) -1

C) 1

D) O

43.

495.

46.

————

If the points A(6, 1), B(8, 2), C(9, 4),
D(p, 3) are the vertices of a parallelogram,
taken in order, then the value of p is

A) 7
B) -7
C) 6

D) 10

The ratio in which the line joining the
points (5, 6) and (-1, —4) is divided by
y axis is

A) 5:1

B) 3:2

C) 5:2

D)1:5

ABC and BDE are two equilateral
triangles such that D is the mid point
of BC. Ratio of the areas of triangles
ABC and BDE is

A)2:1
B) 1:2
C) 4:1
D) 1:4

If the first and the last term in an A.P.
are 17 and 350 respectively and the
common difference is 9 then the number
of terms is

A) 38

B) 35

C) 30

D) 40

42,

43.

45.

46.

afe foig A(2, 3), B(4, k), C(8, - 3)
Tifes €, kT am e

A) 10

B) —1

C) 1

D)0

afs faig A(s, 1), B(8, 2), C(9, 4),

D(p, 3) T it S & ¥ & aik
FAHE, M pHIUE R

A) 7

B) -7

C) 6

D) 10

faigatt (5, 6) 3R (-1, —4) = Sigaeh
Tan =y 7 g R aigra o st sma ?
A) 5:1
B) 3:2
C)5:2
D)1:5

ABC 3t BDE &t swaTg s 30 o &
fo BC =1 weafag D ® | fiyw ABC 3ik
BDE % &%l i 37J0Td

A) 2:1

B) 1:2

C) 4:1

D) 1:4

gl tF gmier Al § wug afk ot we
A 17 3R 350 & 3 am 3iaa 9
&, @ el <) e §

A) 38

B) 35

C) 30

D) 40



47.

48.

49,

50.

Mr. A and Ms. B are friends. The
probability that they both will have
different birthdays is (ignoring a leap
year)

A)

B)

€ &l~ 8-

C)
D) 1

W
(6]

6

Empirical relationship between the three
measures of central tendencies is

A) 2 mean + mode = 3 median
B) median + mode = 2 mean
C) mean + 2 mode = 3 median
D) mode + mean = 2 median

A cone of height 24 cm and radius of
base 6 cm is made up of modelling
clay. A child reshapes it in the form
of a sphere. Then the radius of the
sphere is

A) 6cm

B) 8cm

C) 9cm

D) 3cm

If two cubes of volume 64 cm?® are
joined end to end, then the surface
area of the resulting cuboid is

A) 128 cm?
B) 160 cm?
C) 162 cm?
D) 64 cm?

47.

48.

49.

50.

Page No. 14

st A 3l 5. B fir & | 37 Sfafy
=1 8 it il & (efta ad firomr 3
)

1
365
2
365
364
C) 365

D) 1

A)

B)

F wafedl i o= ot & ofie Tt
Hag 8

A) 2 TTeH + SgEE = 3 HIEHI

B) TS + ageis = 2 AT

C) WIeT + 2 Tgweh = 3 Wi

D) W + WISA = 2 Wifeeh!

yitreyor firdt @ a7 & TiF 6t F91§ 24
At oA Gemeah. ;1w
TS I T TH S AT ATHR a1 8 |
e i B T e 7

A) 6 4.5,

B) 8 ¥.4.

C) 9a.H.

D) 3&.1i.

Ife 64 ¥.1H.2 IaA & 3 941 H ITH
# Rl | Sre fear man &, A aRomdt gy
=l U1 %S ¢

A) 128 9.#t.2

B) 160 ®.H1.2

C) 162 &.1#.2

D) 64 §.1t.2

1 PECE



92

53.

51.

CHEMISTRY

Water of crystallisation is not present in

A) Washing soda
B) Baking soda
C) Soda lime

D) Gypsum

Plaster of Paris is
A) CaSQ, -2H,0
B) CaSO,- 12H,0
C) CaSO, - 5H,0
D) CaSO,-H,0

Acetic acid reacts with NaOH to
produce a salt, whose pH is

A) Less than 7

- B) Equalto 7

54.

55.

C) More than 7
D) Equal to 14

The gas liberated when a metal is
treated with acid or base

A) Oxygen

B) Nitrogen
C) Chlorine
D) Hydrogen

High ductility is observed in
A) Na
B) Fe
C) Au
D) Mg

Page No. 15

51.

52.

53.

55.

s fagm=

foreestetn 5@
A) HTET A
B) @M %1 @rer (afd wien)
C) &3 &1 qHi

D) forEm

o &1 B |

RS AT Ui &
A) CaSO, - 2H,0
B) CaSOQ,-¥2H,0
C) CaSO0, - 5H,0
D) CaSO,-H,0

e Tfre NaOH F 19 i &
T TG gl &, forae pH @

A) 78 %q

B) 7 &% SR

C) 7% 3ftr=

D) 14 % s}

. W YT I I I §R F G0 § 9R W

g fFererdt @
A) JATadisH
B) ArieH
C) st
D) TRgA

o IS a1 9T STl § |

A) Na
B) Fe
C) Au
D) Mg

1 PECE



56.

57.

58.

59.

60.

Metal which is found in its native state
A) Pt
B) Cu
C) Fe
D) Ag

When brass is exposed to air for a
long period of time it turns to green
due to the

A) Formation of Cu(OH),
B) Formation of CuSO,
C) Formation of CuCO,
D) Formation of Cu,O

Alloy used for welding purpose
consists of

A) Lead and Tin

B) Lead and Bismuth
C) Lead and Antimony
D) Lead and Copper

Liquid non-metal among the following
A) Br

B) Te

C) Hg

D) |

Brass is the alloy of
A) Cu and Sn

B) Niand Cr

C) Cuand Zn

D) Pb and Sn

Page No. 16

56.

ol

58.

59.

. et

F§ HTg SN 379 HT §9 H IR A1 ¢ |
A) Pt
B) Cu
C) Fe
D) Ag

v fact = @ THa F forg Iy & a0
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A) Cu(OH), =
B) CuSO, &R
C) CuCO, s
D) Cu,O &

TS & Fovw v Y s fmg @
A) e R e

B) dian 3R feray

C) den ik wfewt

D) € 3R =

fraferiad # @ e 19Tg 8
A) Br
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C) Hg

D) |

=i g ® |

A) Cu 3R Sn
B) Ni 3R Cr
C) Cu 3R Zn
D) Pb 3R Sn
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61.

65.

Kurkure packet's empty space is filled
with an inert gas, inorder to prevent it
from

A) Reduction

B) Oxidation

C) Oxidation-reduction
D) Precipitation

; Transparanthhotographic films

gradually change their colour when
exposed to light due to

A) Combination reaction
B) Thermal decomposition
C) Oxidation reaction

D) Displacement reaction

. Aluminium when exposed to O,

atmosphere, formation of ALO, is
observed. ltis

A) Corrosion

B) Rusting

C) Decomposition
D) Rancidity

When blue coloured CuSO, crystals
is heated, it gives a white amorphous
solid. This white solid is

A) CuSO, - H,0
B) CuSO,

C) CuO

D) CuCO,

Colour of phenolphthalein in acidic

medium

A) Pink

B) Yellow

C) Colourless -
D) Orange
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A) CuSO, -H,0
B) CuSO,

C) CuO

D) CuCO,
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B) diem
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66.

67.

68.

69.

70.

Second highest electronegative
element in periodic table

A) Fluorine
B) Chlorine
C) Oxygen
D) Nitrogen

The element with half filled outermost
electronic configuration

A) Aluminium
B) Magnesium
C) Boron

D) Nitrogen

The order of effective nuclear charge is
A) Li<cNa<K<Rb
B) Li>Na>K=>Rb
C) LicK<Na<Rb
D) LicRb<K<Na

Triad among the following is
A) H.F, Cl

B) F, Cl, Br

C) Be, Mg, Ca

D) Ca, Sr, Ba

KOH is stronger base than LiOH. The
reason is

A) Liis highly reactive

B) Atomic size of Li is less
C) K is highly reactive

D) Atomic size of K is more

Page No. 18

67.

68.

69.

70.

. 3Yrad-aweft =i fadia seaan fga o

Gich

A) T
B) FIH
C) et
D) rEgIoH

a1t R sTRran SeaRieh TeaTe aTett
TER

A) TegHifAan
B) &t
C) s

D) wEgeH

T 5 AN 1 A ©
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A) H, F, Cl

B) F, Cl, Br
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72.

73.

74,

75.

1.

Hydrolysis of an Ester in presence of
alkali is called

A) Esterification
B) Saponification
C) Substitution
D) Addition

Vegetable oils usually contain
A) Unsaturated fatty acids

B) Carboxylic acids

C) Saturated fatty acids

D) Glacial acetic acid

Hard water forms scum with soap,
due to the presence of

A) CH,COOH
B) NaOH

C) Ca(OH),
D) CaCl,

Hydrophabic end of micelle is soluble
in hydrocarbon because it is

A) Non-polar
B) Polar
C) lonic
D) Covalent

Compound which does not belong to
the homologous series

A) CH,0
B) C,H,,0
C) C,H,0
D) C,H,0
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A) CH,COOH

B) NaOH

C) Ca(OH),

D) CaCl,
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2 e it s e ¥ 7 o
A) CH,0
B) C,H,,0
C) C,HO
D) C,H,0
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76.

78.

79.

80.

Colour of Taj Mahal in Agra is
changed due to

A) Sunlight
B) Acid rain
C) Slaked lime
D) Corrosion

Antacids are used to remove
A) Body pain

B) Acidity

C) Basicity

D) Headache

Chemical compound present in tooth
paste is

A) Basic — Ca,(PO,),
B) Acidic — Ca,(PO,),
C) Basic — Ca(HCO,),
D) Salt-Ca,P,

pH of orange juice is
A) 2.00-2.35

B) 3.12-3.33

C) 3.00-3.75

D) 3.3-4.19

Acid which helps for the digestion is
A) Amino acid

B) Hydrochloric acid

C) Acetic acid

D) Citric acid
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A) g9
B) st
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D) H&mo
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T B € |

A) T g8

B) anEfar

C) gnian

D) Rres

Zavis B It Tarat 9t R
A) &Tid - Ca,(PO,),

B) =i — Ca,(PO,),

C) & - Ca(HCO,),

D) &aw - Ca,P,

TN F @ H pH
A) 2.00-2.35
B) 3.12-3.33
C) 3.00-3.75
D) 3.3-4.19
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81.

82.

83.

84.

85.

Method used to prevent the corrosion
of Aluminium

A) Galvanisation

B) Anodizing

C) Tinning

D) Cathodic Protection

Metal ‘A’ reacts'with dil. HNO, and
liberates hydrogen. A is

A) Mg
B) Ag
C) Cu
D) Au

The metal which is highly reactive
A) Hg
B) Zn
C) Pb
D) Al

Among the following the Polar
compound is

A) Kerosene
B) Alcohol

C) Benzene
D) Gasoline

Metals can be extracted easily and
economically from

A) Mineral

B) Metallic compound
C) Ore

D) Rock
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A) et
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u1g ‘A’ 7 HNO, % | 1 grsgiem
IFRME AR

A) Mg

B) Ag

C) Cu

D) Au
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C) Pb
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86.

Allotrope of carbon which posses high
melting point

A) Graphite

B) Fullerene

C) Coke

~ D) Diamond

87.

88.

89.

90.

The compound gives a sooty flame on
burning

A) CH,
B) C,H,
C) C,H,
D) C,H,

Addition of hydrogen to alkene in
presence of nickel catalyst is

A) Reduction

B) Oxidation

C) Addition and Elimination
D) Substitution

A compound ‘A’ with formula C,H,0
possess two structural isomers.

On Oxidation it produces an acid.
Compound A is

A) 1-Propanal
B) 2-Propanone
C) 1-Propanol
D) 2-Propanal

Poisonous organic compound present
in denatured rectified spirit is

A) Ethyl alcohol
B) Methyl alcohol
C) Ethanoic acid
D) Formic acid
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2} TSI AU § | 3999 W9 G
I ST & | e A R

A) 1-90=e
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9,

92.

83.

94,

95.

-Burning of-Mg in air is

A)_Physical change
B) Chemical change
C) Sublimation

D) Oxidation-reduction

Reaction of marble with atmospheric
humidity and CQO, to form slaked lime

is an example for |

A) Decomposition reaction
B) Displacement reaction
C) Combination reaction
D) Redox reaction

A compound X reacts with CO,
present in air to form Y. Y on
decomposition produces an oxide.
The compound X is

A) CaCO,

B) CaO

C) Ca(HCO,),
D) Ca(OH),

Barium can displace which element
from its sulphate ?

A) Sodium
B) Caesium
C) Aluminium
D) Hydrogen

Dissolution of glucose is
A) Endothermic reaction
B) Exothermic reactit:'_m
C) Redox reaction

D) Displacement reaction
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84,

95.

iR = &1 § S ©
A)- sifdes gREd

B) TEmfe qiads

C) I=qTH

D) IU=g-qT9
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D) sw=av=Ey ffwar &

& A X, a1g § I CO, % a1y
AR =& Y T R | R & 9
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A) CaCO,

B) CaO

C) Ca(HCO,),
D) Ca(OH),
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FLHHATS 7

A) aifeaw

B) fyEm

C) TegHifem
D) ®§gH

Tophie 1 fame R

A) Femreirdt st
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C) sr=ra=g s
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96.

97.

98.

99.

100.

The process of formation of covalent
bonds with other atoms to form long
chains is called

A) Addition

B) Coordination
C) Catenation

D) Polymerisation

CH,COOH + CHOH _X_,
CH,COOCH, + H,0 ; X is

A) H,S0,
B) NaOH
C) KMnO,
D) Ni

Modem periodic law is based on
A) Atomic mass

B) Mass number

C) Atomic number

D) Electronic configuration

In Mandeleev’s periodic table elements
with atomic numbers 18, 35 belongs to
which group ?

A) Group |

B) Group Il
C) Group V
D) Group VI

The element which is electropositive
in nature

A) Sulphur
B) Silicon
C) Boron
D) Copper
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A) GFHeH

B) WH<aaH

C) FawH

D) wigeitrtr

CH,COOH + CHOH _X |
CH,COOCH, + H,0; X%

A) H,SO,

B) NaOH

C) KMnO,

D) Ni

e o1 fFam q®
i # |

A) ST MR
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101.

102.

103.

104.

PHYSICS

Select correct option from the following
about, nature and distance of the image
formed by plane mirror.

A) Real, inverted and at the same
distance as object in front of the
mirror

B) Virtual, erect and at the same distance
as object behind the plane mirror

C) Virtual, erect and at a distance
smaller than the object distance
behind the plane mirror

D) Virtual, erect and at a distance larger
than the object distance behind the
plane mirror

To get virtual image of an object by a
concave, the object should be placed at

A) Centre of the curvature

B) Between centre of curvature and
principle focus
C) Principle focus

D) Between principle focus and pole

To get powerful parallel beam of light,
head light of vehicles have

A) Concave lens
B) Concave mirror
C) Convex lens
D) Plane mirror

What type of mirror is used to get
virtual and erect image always ?

A) Plane mirror

B) Convex mirror

C) Concave mirror
D) Both A) and B)
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105. In an experiment, a current carrying

106.

107.

conductor is kept paralle! to the
magnetic needle on a compass. If the
direction of the current is from south

to north then,

A) North pole of the needle turns
towards west

B) South pole turns toward west
C) Needle does not move
D) North pole turns towards east

For a long, straight current carrying
wire, the strength of the magnetic field

I. is depend on nature of material of
wire
Il. is directly propdrtinnal to current

lll. is inversely proportional to
distance

A) | and lil are correct
B) | and |l are correct
C) Il and Il are correct
D) All are correct

The direction of the force on a current
carrying wire placed in a magnetic
field depends on

A) The direction of the current but not
on the direction of the field

B) The direction of the field but not on
the direction of current

C) The direction of the current as well
as the direction of the field

D) Neither the direction of the current
nor the direction of the field

105.

106.

107.
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111.

] |

108.

109.

| 110.

From the following phenomenon, which
one cannot be explained by assuming
light always travels in straight line ?

A) Refraction
B) Reflection
C) Diffraction
D) Transmission

Image formed by plane mirror,

I. Double the size of the object
Il. Half the size of the object
Hl. Same as the size of the object

IV. Laterally inverted
A) |is true

B) Il and IV are true
C) Il and |V are true
D) All are wrong

What is the nature of the image
obtained from surface of the spoon
buiged outward and to what type
mirror we can approximate it to ?

A) Inverted and concave mirror
B) Inverted and convex mirror
C) Erect and convex mirror

D) Erect and concave mirror

An object is kept at infinite distance,
produces a bright and sharp image
on the screen kept at a distance ‘x’
in front of concave mirror, then ‘X’ is
equal to

A) Radius of curvature

B) Twice of the focal length

C) Focal length of the mirror

D) Object distance

108.

109.

110.

111,
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112. If magnification m = +1.5, then

113.

114,

115.

A) Size of the image = size of the object,
real image

B) Size of the image > size of the object,
real image

C) Size of the object > size of the
image, virtual image

D) Size of the object is twice the size
of the image, virtual image

A pencil partially immersed in water
appears to be displaced at the interface
of air and water, this is due to

A) Tyndall effect
B) Scattering
C) Dispersion

D) Refraction

Arrange following in increasing order
of their absolute refractive index.

A) Water, kerosene, glass, diamond
B) Kerosene, water, glass, diamond
C) Glass, kerosene, water, diamond
D) Water, glass, kerosene, diamond

How power of the lens is related to
focal length of the lens ?

A) Directly proportional to f
B) Directly proportional to %
C) Directly proportional to Ji

D) Directly proportional to flz
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116.;According to Ohm's law; V= IR
A) VaR
B) laR

1
C) Va—=
) Vao

D) Val

117._On which of the following factors
resistance of the wire depends ?

A) Area of the cross section
B) Length

C) Temperature

D) All of the above

118. Device used to regulate the current in

a electric circuit is
A) Transformer
B) Voltmeter

C) Rheostat

D) Galvanometer

119. Across a metallic conductor of non-
uniform cross-section, a constant
potential difference is applied. The

quantity which remains constant along

the conductor is
A) Current

B) Resistance

C) Electric field
D) Current density

. D) fagaaw o

116.

117.

118.

119.

iigw o Fam & 3FER, V = IR
A) Va R
B) laR

1
C) Va=

D) Val

TR F vty Fefifea A e sa w
kT g ?
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C) a9

D) 3w it
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120.

121.

122.

123.

What is the colour of sky viewed from
surface of the moon ?

A) Red

B) Blue

C) White -
D) Black

An object of 5 cm in size is placed
at a distance of 20 cm from concave
mirror of focal length 15 cm, what is
the nature of the image ?

A) Real, inverted, enlarged

B) Real, erect, diminished

C) Virtual, inverted, diminished
D) Virtual, erect, diminished

A light of wavelength 750 nm in air
enters glass slab of refractive index
1.5. The change in wavelength of light
is approximately

A) 500 nm
B) 250 nm
C) 750 nm
D) 1250 nm

There are two lenses. One is convex
of focal length 20 cm and another is
concave of focal length 25 cm. What
is focal length of the combination ?

A) 0.01 cm
B) 100 cm
C) 10cm
D) 1cm
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124.

125.

How many 400 € resistors are required
to carry 5 ampere of current connected
to 200 V line ?

A) 20
B) 5
C) 1
D) 10

Express which of the following setups
can be used to verify Ohm’s law.

_yoa ®
A) 3

B) 3

o 3 2

D)

b4

124.

125.
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|
L
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c) 2 3
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WA o=
D) 2 3
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126.

127.

128.

129.

A wire of resistance 8 ohm is bent in
the form of a closed circle. What is the
effective resistance between point A
and B ?

B

QOO

N

A) 20

3

B) 5 @

C) 4a
3

D) 3
4

An electric heater is rated at 1 kW.
Caiculate the heat produced per hour.

A) 1000 J

B) 3600 J

C) 3600 x 10°J
D) 60J

S. I. unit of resistivity
A) ampere

B) coulomb

C) ohm

D) ohm meter

Two heaters A and B, rated 200W at
220V and 40W at 220V respectively, are
connected in paralle! to 220V supply.
Calculate current drawn by heater B.

A) 0.64 A
B) 0.91 A
C) 0.182 A

D) 1A
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126.

127.

8 3iign yfeliy IR TF TR A A T
segd e T ¥ | fig A s BF =
yrE feRg F R 7

B

A

Z
0

Uy
—

o
DlWWlH N[W WM
& B

L

e forg e 1 kW e T R )

HeT IeqTfed ST o T |
A) 1000 J

B) 3600 J

C) 3600 x 103 J

D) 60J

128. SRuwa R S, | THE R

129.

A) i
B) o«
C) afgn
D) 3frew X

A 31 B 2 det muTn: 220V | 200W K
220V T 40W 91T ¢ § 37 a8 220V
TR & TR & SIS ML E | SR B AW

frerTett ST STt R S T R |
A) 0.64 A

B) 0.91 A

C) 0.182 A

D) 1A
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130. Power of the lens suggested by

131.

132.

133.

134.

ophthalmologist is +2.5D, then
A) f=2.5 cm, convex lens

B) f =40 cm, concave lens

C) f=40cm, convex lens

D) f=2.5 cm, concave lens

The amount of light entering the
human eye is controlled by

A) Iris

B) Cornea
C) Retina
D) Pupil

The eye defect in which far point shift
nearer than infinity is

A) Far sightedness
B)- Cataract

C) Short sightedness
D) Presbyopia

A person holds newspaper far from
his eyes to read it comfortably, then
he has

A) Cataract

B) Presbyopia
C) Hypermetropia
D) Myopia

In dispersion of white light through
glass prism, it is observed that violet
colour bends more and red colour
bends less, then

A) Wavelength of all colours same

B) A > Ay

C) A5 .

D) Bending does not depend on
wavelength
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130.

131.

132.

133.

134,

7 9wy g7 < i wifFT +2.50 aai
TR,

A) f=258H., IueoE

B) f=409.1., 3Ead &9

C) f =403, I oid

D) f=2.52.1., 3gda o9

e A9 § T3 FE Jrelt THE 6 qE
T Fafa adt R |

A) it
B) vaaued
C) g=iyes
D) At@ i gasit

e g Ay Rrad g fiig oFa @ e
37 S7TaT 2

A) T e

B) wifaanfeg

C) e giegly

D) srezgfee

U S fehel THTERYS h! TETal & 9G4 o folg
@ ¥ @I 9gaT 8, A I g
A) Aifeafag

B) S gfeary

C) ez

D) fiehe gfeay

g o TSI o Tem § Y3 e o fasiqu
T 78 qrn S @ T S O ritres g
& IR AT U1 ggar 8, @

A) axft Tnt it qoreetar aaE @

B) A > A

C) A > Mgy
D) w1 ataedan W it 7 s

1 PECE



135.

136.

137.

In the circuit below, the ammeter and
the voltmeter reading are 6A and
12V respectively, then the value of
resistance R is

D
—(v)
A

A) >2Q
B) =2Q
C) 2Q

D) <2Q

In a conductor, 1500 coulombs of

charges enter and 1500 coulombs of |

charges exit in 5 min, then current is
A) 300 ampere

B) 5 ampere

C) zero

D) 1 ampere

Two wires of same material having
length and radii in the ratio 3 : 4 and
3 : 2 respectively, are connected in
parallel with a battery of 6V, the ratio
of currents is

A) 1:3

B) 3:1

C)1:2

D) 2:1

135.

136.

137.
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#= e 7o |fde 4, et ik Siverfie
T STt TS ST SR 6A S 12V E,
ATRRT R AR R

& @ AM——_._.

—(v)
W)

A) >2Q
B) =2Q
C) 20

D) <2Q

& 9 4, 5 fFe #1500 Fo9 &
AT FAT T & 27K 1500 Feial o A&
feperd €, o fogaamu @

A) 300 TdR
B) 5 wdiR
C) ™

D) 1 iR

a gerd & 51 ar et g ofk B
1 g9 FwE: 3: 4 3 3: 28 3N
T2 6V il T 32 | Fumia ¥ 92 &,
ferggaTgratt @t e &

A)1:3

B) 3:1

C)1:2

D) 2:1
1 PECE




138. If refractive index of water with respect

139.

140.

141.

to air is % then refractive index of air

with respect to water is
A) 4x3
B) 3

4
CJ‘E
D)\E

A person requires a lens of power
—0.50D so where is his far point ?

A) 0.5m
B) 4m
C)2m

D)lm
4

Near point of an eye suffering from
long sightedness is

A) 25cm
B) <25cm
C) >25¢cm
D) at infinity

When 1J of work is done in moving a
charge of 1 coulomb from one point A
to another point B in a electric circuit,
then it refers to the following

A) 1 ampere current between point A
and B

B) 1V of potential difference between
point A and B

C) 1.6 x 10~ coloumb of charge
between point A and B

D) None of the above
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138. I a1y ¥ 1T 1 v '—:;’- &, @l oie

139.

140.

141.

q 91 F FITIHIF &
A) 4x3
B) 3
4

4
c) \E-

3
0
T =fRr & —0.50D nfFa & &g RN
AT 8, T IuH gy fig Fei @ ?
A) 0.5 .

B) 4.
C) 24

D) 1.
4

TiReary ufda w3 @ e fig @
A) 25 @ .1,

B) <25Q.4.

C) > 25 u.1.

D) 3Fa W

s g afe 3§ 1 3w smm A fig A
AfgBaw AT 1w A, A e
Prefrien @ waffa |

A) foig A 3R B & <9 1 Tdier faga ama
B) faig A 3R B & sftwr 1V =1 favaier

C) fg A 3 B & &= 1.6 x 109 e
T AN |

D) 39 & & %S 7
1 PECE



143.

142. V- graph of experiments on series 142, oo 3 wfedias R, 3R R, % @ 3dR
and parallel combinations of two given IR G419 5490 & V-1 1% 9
resistors R, and R, shown below. T T |

A saries A :
T I o
e paraliel v AT
= >
f—> [ —>
Fig. (i) ATHI (i)
,[ A parallel I A AR
I series I @
> >
Ve V———
Fig. (ii) I (ii)
Which graph is/are correctly labeled ? HI-H1 T Hel ﬁﬁﬁa #7
A) Only Fig. (i) A) e ATHl ()
B) Only Fig. (ii) B) et STHH (i)
C) Both Fig. (i) and Fig. (i) C) 3T AP (i) S AT (ii)
D) None of the above D) Ivged & & i3 el
In the given circuit diagram, reading in | 143. fu e afe stg #, Seesfier gr zuid
the voltmeter is T HE R
10V 10V
—
2Q 4Q 6Q @ 20 4Q 6Q #2
MA MA M M MA N
—(V— —(V—
A) 12V A) 12V
B) 10V B) 10V
C)5V C)s5V
D) 0.833V D) 0.833V
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144. An electric fuse is based on

145.

146.

147,

A) The chemical effect of the current
B) The magnetic effect of the current
C) The heating effect of the current
D) None of the above

The purpose of glass cover on top of
a box type solar cooker is to

A) Allow one to see the food being
cooked

B) Allow more sunlight into box
C) Prevent dust from entering box
D) Reduce heat loss by radiation

To work properly, wind-electric
generators used wind speeds of
atleast about

A) 1.5 km/h
B) 15 km/h
C) 150 km/h
D) 1500 kmvh

Which energy from the following are
derived from the sun ?

i. Nuclear energy

ii. Wind energy

iii. Biomass energy

iv. Ocean thermal energy

A) ii and iii
B) i, iii and iv
C) iv, i, iii

D) i and iii

144,

145.

146.

147.

e forega ®Iw onatia @

A) Teargaamy & TaEtE e W
B) fergaamy & gaehia wvE W

C) Tergauma & Ssflw wmE W

D) Iwfea & A IS e

T diad TR o WX Fot & N R FHig

& T FTIRE &

A) @14 %! Thd §C 3@ & g

B) wiew # a1t dit e 9 & forg

C) sied # g1 9 | U & fog

D) g s H Ta A FAF
fog

et witfer el st o e, waer-Tamga wfa
AGH T = ya= Tife =
T A € |

A) 1.5 .t /g

B) 15 f&. 4. /g

C) 150 .. /==

D) 1500 f&.#. /eer

Frerfirfaa 3 @ Bt s gd & of
g 7

i, iR S

ii, Ta FHeAl

i, SIER Feit

iv. AR ST Sl
A) ii 3 jii

B) i, iii 3R iv

iiiii

D) i M iii
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148,

149,

150.

In a small electric plant at your home,
45 kJ energy is generated. Then how
long you can power a incandescent
bulb of 45W approximately ?

A) 45 min.
B) 16.67 min.
C) 20.25 min.
D) 45 sec.

A student obtained following graph :

V(Volt) —
so resistance of resistor is
A) 2Q
B) 2kQ
C)02Q
D) 20Q

Which one of the following is not true
about properties of magnetic field
lines ?

A) They come out from north pole and
go into south pole

B) They form closed loops

C) They intersect when two magnets
are kept

D) They are closely spaced in the
region of strong magnetic field

148.

148.

150.

39 R/ 7 U Bie forega w97 7 45 kJ
STl Ieqried gt € | A 79 TEH 45W FI
AR oet AT et ST e 8 7

A) 45 e
B) 16.67 fafie
C) 20.25 fafte
D) 45 d%e

T formefi it FferRea o Frear @

|

|
I I
I I
I |
I
6 8
V (Fiee) ——>

aqr wferras w1 wiey @
A) 20

B) 2 kQ

C) 02Q

D) 20Q

gehig 8 @Rl ¥ uieHl & deg |

frfafee # 4 FR-m e A R ¢

A) 3 Ia0 ya @ Fred g oK aftnft ga |
o &

B) ¥ s oRay ¥91d ¥

C) ¥ 3 Yo @ 91d & af 3 ia=ag
T

D) & wifRreneht gehla &9 % agd TE-uTH
@ 8 &
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